
1)  Which number sentence should 


     NOT have a 3 in the box?





A.  


B.  


C.  


D.  





7)





ANSWERS





1)  





2)  





3)  





4)  





5)  





6)  





2)  What would the temperature


      be if it were to increase 19 º C?





F.  40 º C


G.  59 º C


H.  21 º C


J.   19 º C





3)  Which customary unit would you use to measure the length of a football field?





A.  feet


B.  meters


C.  yards


D.  gallons





4)  Solve.





F.  364


G.  0.60


H.  60


J.  3.64














6)  Which improper fraction best represents the picture?





F.                      H.





G.                      J.  


 









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5)  Which mixed number best represents the picture?





A.                    B.





C.                    D.














Cameron has 5 binders that he uses to hold photographs of family and friends.  The cost for each binder is $8, and the cost of each page is $2.  Each page in a binder will hold 6 photographs.





If Cameron decides to buy 18 more binders, what is a good ESTIMATE of the total cost of the binders?
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